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wolf
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Comprehension Quiz

1.) Match the animal with the problem they suffered from.
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poorly leg
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broken paws
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2.) Circle the word closest in meaning to ‘perceiving’.

[ ignore
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3.) What does the wolf mean by doing Ferko a ‘good turn’?

4.) Using information from the text, tick one box in each row to

show whether each statement is a true or a false.

Statement

True

False

The moon helped show him the way to the lake.

The wolf was healed by drinking the water from the lake.

The mouse was creeping along on its back two paws.

The bee was injured by two big birds.

The bee was cured straight away.




Comprehension Answers

1.) Match the animal with the problem they suffered from.

~

mouse

~N

wolf

bee

poorly leg

torn wing

broken paws

2.) Circle the word closest in meaning to ‘perceiving’.
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[

perform

| [ overonx |

3.) What does the wolf mean by doing Ferko a ‘good turn’?

one day he will repay the favour / help him out

4.) Using information from the text, tick one box in each row to

show whether each statement is a true or a false.

Statement True | False
The moon helped show him the way to the lake. v

The wolf was healed by drinking the water from the lake. v
The mouse was creeping along on its back two paws. v

The bee was injured by two big birds. v
The bee was cured straight away. v
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